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ENGLISH VERSION

Instructions : (1) The marks of all the questions are the same.
(2) Answer any four questions.

1 The following information is available from the records of a 17.5
manufacturing company using standard costing system.

Particulars Budgeted Actual
Production — Units 4,000 3,800
Fixed Overheads (Rs.) 40,000 39,000
Variable Overheads (Rs.) 12,000 12,000
Working Days 20 21

Calculate the following overhead variances :
(1) Variable overhead variance

(2) Fixed overhead cost variance

(3) Expense or Budget variance

(4) Fixed overhead volume variance

(5) Fixed Overhead efficiency variance

(6) Fixed overhead calendar variance

2 The following data are available in respect of Patel 17.5

Manufacturing Company.

Particulars Budgeted Actual
Production — Units 15,000 17,000
Machine Hours 30,000 35,000
Working Days 25 26
Fixed Overheads (Rs.) 60,000 62,000
Variable Overheads (Rs.) 60,000 78,000
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From the above information, calculate :

(1) Total Overhead Cost Variance
(2) Fixed Overhead Cost Variance
(3) Variable Overhead Cost Variance
(4) Expense or Budget Variance
(5) Fixed overhead Volume Variance
(6) Fixed overhead Efficiency Variance
(7) Fixed Overhead Capacity Variance
(8) Calendar Variance
3  Ram manufacturers operate budgetary control and standard 17.5
costing systems. Following information is available for the month
of March, 2022.
Budgeted Actual
Product | Quantity| Selling Total | Quantity Selling Total
(Units) | Price per (Rs.) (Units) | Price per (Rs.)
unit (Rs.) Unit (Rs.)
A 5,000 5 25,000 | 6,000 36,000
B 4,000 6 24,000 | 5,000 25,000
C 3,000 7 21,000 4,000 32,000
12,000 70,000 15,000 93,000
From the above information calculate :
(1) Sales Revenue Variance
(2) Sales Price Variance
(3) Sales Volume Variance
(4) Sales Mix Variance
(5) Sales Sub Volume Variance (Sales Quantity Variance)
4  Akash Ltd. provides the following information 17.5
Product Budgeted Actual
Quantity | Cost per | Selling Quantity | Selling price
(Units) | unit (Rs.) [ Price per (Units) | per unit (Rs.)
unit (Rs.)
A 200 10 15 160 15
B 400 5 8 240 9
¢ 1,000 1 2 400 1.80
1600 800
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From the above information calculate :
(1) Profit Value/Margin Variance

(2) Profit Price Variance

(3) Profit Volume Variance

(4) Profit Mix Variance

(5) Profit Sub Volume/Quantity Variance

5  Krishna Ltd. manufactures two products A and B in the 17.5
factory. Similar raw materials and similar production processes
and resources are involved in their production. The following
details are available for the year 2021-22.

Particulars A B
No. of units produced 20,000 28,000
Per unit labour hours 2 4
Per unit machine hours 3 1
Set ups in the year 10 40
No. of orders (total) 15 60

The company incurred total overheads Rs. 14,25,000 during the year
2021-22. Classified as under :

Particulars c.ncccnccnnnccisssssssssssssssssssssssssssssssssssssssssssssssssssssnns Rs.
Machine actiVity ...........cocovviiiiiiiiiiieiieeeeee e 11,00,000
SEt-UpPS ACHIVILY ....oooiviiiiiiiiiiiiiii e 1,00,000
Ordering and Maintenance .....................ooeeevvieeeeeinieeeeennnn, 2.25.000

You are required to calculate per unit overhead absorption rate for each
product as per following methods :

(1) Traditional Costing Method

(2) Activity Based Costing Method

6  Paresh Ltd. provides the following information : 17.5
The learning curve ratio 1s 80%. Time taken to manufacture the
first machine 1s 600 hours. Per hour labour cost is Rs. 20. Direct
material cost per machine 1s Rs. 7,500 and variable overhead cost
per machine 1s Rs. 5,000. Total fixed overhead up to the
production of 8 machines 1s Rs. 15,000 and after that it is Rs.

18,000. You are required to calculate :
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(1) Production cost of 4 machines.
(2) Production cost of 8 machines.
(3) Production cost of 16 machines.
Moreover, calculate production cost of 8 machines as per 90%

learning curve ratio.

7  What is cost audit ? State its advantages and disadvantages.  17.5

8  Discuss techniques of cost reduction and characteristics of  17.5
cost control.
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